
1. 	 (a) (10o/tl) Find all the roots of the (:~qua.ti()n 

zG + 1 = 0 

(b) (15g{)) Evaluate the sum 

N

2:: sin(nx) 
n=l 

2. 	 Consi<h)r the rna.trix 

2 0 0)
(A = 0 2 2 

022 

(a) 	(15(j{\) Find the nigPlIVahH-1" and the COI'H!8pOnding norrnalized eigen­
Vf:ctors of A. 

(b) 	 (107(:) Use the result in (a) to evaluate the Inatrix eA. 

3. 	 Consider the vector field = (3:r~!I + :v2)x + 2y.;:y + (a:z + y2)Z. 

(a) 	(15o/t)) Evaluate the pEtth int(:>gral fv . df along thf~ trinngula.r loop 
(0,0 , 0) -t (2,0, 0) -t (0,1,0) -t (0,0,0). 

(b) 	(lOo/tj) Use the Stoke's theorerl1 to (:>valuate the intt~gral in (a) 

4. 	 (25(J{;) Find tlw geIH:ral Soilltion of the seeond (}['(h~r ordinary differential 
equation 

d2 
7/ .' d'lj . -3 ' +2Y=COS;1!

dx 


